Algebra 2H
6.3 Add, Subtract, and Multiply Polynomials

6.4 Factoring and Solving Polynomial Equations

Goal: Add, subtract, and multiply polynomials.
Factor and solve polynomial expressions.

Section 6.3
Adding and Subtracting Polynomials

HW - Section 6.3 #22-25, 29, 38, 44, 50
Section 6.4 39, 40, 46, 47, 55, 56, 77-82
Quiz 6.1-6.4 Thursday (end of class) B

¢ Add and subtract like terms (same variable, same exponent)
* Remember to distribute subtraction to every term in the polynomial
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Multiplying Polynomials
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e When multiplying two terms with the same base, ADD exponents
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If f(x)=2%* and g(x)=x*-5, find:
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A few more problems:

For 1 -4, simplify each expression. Assume all variables represent positive integers.

1. 3xP(5x* +4x*) 2. (6x"-5)(2x"" -3)

3. Find the product (a+b+c)’
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Section 6.4 Factoring and Solving Polynomial Equations

Factoring 25¢c%-4

Look for a common factor T (Sc+2)(5¢ -"Z)
Two terms? Try factoring as a difference of squares or as a sum or difference of cubes
Three terms? Try factoring as a square of a binomial or test the factors of the terms

More than three terms? Try factoring by grouping \/ _
ke %uﬂdmkc ex (%¢)

Factor completely. Make sure each factor is prime

Sum and Difference of Cubes

* a’+b’=(a+b)(a®-ab +b? * a°-b’=(a-b)(a®+ab+bd

Examples: Factor.
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Factoring by Grouping — Check for a common binomial factor or for a difference of squares
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Examples: Factor.
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Solving by Factoring
Set the equation equal to zero. Factor the polynomial completely. The solutions are the values

that make each factor equal to zero. X—inderee Pﬁ ] _A vl
Examples: Solve by factoring
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